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Run 11337, integration on 12 samples
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Run 11337, pixel O

—— event 1001, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset
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— event 1002, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset
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—— event 1003, HG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset
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—— event 1001, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0

10 20 30 40

time sample [ns]

— event 1002, LG: RO

baseline correction
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—— event 1003, LG: RO
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+ dt corr + corrected spikes

---- oOffset
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—— event 1004, HG: RO

baseline correction
+ dt corr + corrected spikes
---- offset
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Run 11337, pixel O

—— event 1005, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset
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